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o 30 —40° 40 | —0,064 | —12 —210 | ~14 | —487 | —23 | 0706
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" 4h4010° | » | —0,068 | —13 —487 | -38 | —282 | —13 | 068
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» 1h30'—1b40’ | » | 40,027 | 405 | + 063 + 05 | —352| — 23 | 0824
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nB0—4 w | —0025| —04 | — 156 — 09 | —191| — 08| 0715
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»w 1b30'—1b40’ | » | —0,153 | — 3,0 | — 1573 —100 | — 20,03| — 97 | 0762
" 9h_2b10" | » | ~0200) — 40 | — 1405 — 89 | — 1840] — 89 | 0764
» 2030'—2h40 | o ~0258 | — 52 | — 1577 —10,0 | — 18,03| — 87 | 0,754
" 303010 | » | —~0,190] — 38 | — 12561 — 79 | — 1476 — 7.1 | 0,758
w  3n30°—3040° | 37 | ~0,202| — 40 | — 1460 — 92 | — 1441| — 7,0 | 0,745
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o =t -1,922 | —37,5|-149,81 —94,8 |—180,08| —872
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" 1h1h1Y’ 46 ~0302 | —~ 60 | — 3040] —183 | — 30,98 —142 0,724
» 130/ —T1h40/ ” ~0143 | ~ 28 | — 17,19] —10,3 | — 2056! 135 0,788
» A A LU ~0,119 | —~ 24 | — 13820 83 | — 17,67 — 8,1 | 0,758
w220 |, 0115 — 23 | — 1119 — 67 | — 17,05] — 78 | 0770
" 3h—-3h1(y » -0,204 — 4,1 - 1435 - S’(‘)' — 18,51 — 85 0,759
o L3 —3h40 45 — 0,137 - 27 | = 1371] — 82 |- 1501] — 68 0,749
»” 4h—4h16’ » —~0,141 ~ 28 | — 1025 — 61 | — 13,60] — 6,2 0,761
s A3 —4hd4(y » -0,070 - 14 |~ 651} — 39 | — 1040 — 47 0.767
A ) —1,466 | -29,2|—-14588 -875 |—~191,62 —875
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BEHR ke 016g 7R ~2 A BE N GEOSR), 26 FR=R1 7 FHB LT * £,
TFRAREME = A 7 AR AL WP, BRER 4 AT HHER R cRBEERE A EH-HD 3,
WE 3 B vEEGFR 1M =7 V) FORK =8, a2 ME— 2 K305
JE=TR« 2B ArEB IR, Vo BAMERF AN RA T, HGHE 4RERT 30 2 2K
FERE=REe X MR A7 R BOR A BENER R P KUETA »
, ME WPENEE ) RIVKF Y.

EBo5&k., MR ./ A= WA ke 0,15 g ik TrEg)
105 [ 7  #=7 & B
14300 (0C 760 mm Hg) ’
e e s g e m R s v < BRME| R RO ORRTREK
CRE T | | 0 V
(L (%) (ecm) (%) {cem) (%)
%ﬁﬁﬁ&fﬁ i I. 2300ke. 3
A { 39 6,255 184,64 242,88 0,760
H4HE 15 —25 39 | —0085 | — 13|~ 69| — 37/ — 1094 — 45| 0766
w3040 45 | —0470 | — 75 | — 3614] — 195 | — 4137| — 17,0 | 0,736
" 11010 | » | —0550 | — 87 | — 45,77| — 247 | — 5262 — 21,6 | 0,729
v 1h30°'—1040° | v | —0476 | — 7,6 | — 44,44| — 240 | — 44,37 — 182 | 0,706
" oh_2n10’ | » | —0424| — 67 | — 3520 — 190 | — 4057| — 16,7 | 0,738
» 9h30'—2n40’ | 43 | —0320 | — 51 | — 27,49| — 148 | — 2800 — 115 0731
" 3h_3n10’ | 42 | —0,329 | — 52 | — 2344 — 126 | — 21,69| — 89| 0,728
n 3h30'—3n40’ | » | —0249 | — 39 | — 20,05| — 108 | — 20,11| — 82| 0738
»  Ah_4n10’7 | 39 | —0282 | — 45 | — 1721 — 93| — 1502 — 61| 0734
w 4h30-4h40° | » | —0219| — 35 | — 1557| — 84| — 16p4| — 68| 0747
1 = —~3,404 | —54,0 | —272,27| —146,8 | —291,23| —119,5
%ﬁ%ﬂ &2.15;% IL. 2400kg &
T R 39 4,920 145 52 190,72 0,763
A 117—925 40 | —0075 | ~ 15 | — 1048| — 72| — 1247 — 65| 0757
w30 —40° 39 | —0331| — 67 | — 3273 — 224 | — 37.24| — 195 0,734
" 1h-1010° | 42 | —0459 | — 93 | — 41,99| — 288 | — 4221| — 221 | 0,697
»  1h3(’-——1b40’ ” -~ 0,431 — 87 | — 3811 — 26,1 | — 3346 — 175 0,683
" oh_9n10’ | 40 | —0399 | — 81 | — 3269 — 224 | — 3264, — 17,1 | 0713
o 2n30'—9b40" | 42 | —0339 | — 68 | — 23,78] — 163 | — 1862 — 97| 0707
w  8h—3p10’ | » | —0177 | — 35 | — 1813| — 124 | — 1506 — 78| 0,725
w 3h30°—3m30° | 40 | —0272 | — 55 | — 1866| — 128 | — 1412] — 74| 0718
” 4h._4h10’ »” -0200 1 — 40 — 17,70} -~ 121 | — 15111 — 7, 0,727
w 4b30'—4b40’ | » | —0154 | — 3,1 | — 1206| — 82| — 1365 — 71 0753
o = —2,837 | —57,2| —24633| —168,7°| ~234,58 — 1226
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| 10 53 W 2 =7 K @
1551 (0°C 760 mm Hg)
At T o m R e v SRME) MR E R PPBAY
o) MR T | HRE | HAR | HRAE HRE | HRE
(L) (%) (cem) (%) (cem) (%)
Fnmarci | L 190k @
T R ‘ 52 1 4,272 117,43 157,83 0,744
s 15—25 || 52 | 40061 | 414 | 4215 +18 | + 425 | +26 | 0737
» 30—40 | 53 | ~0053| —12 | —178| — 15 | — 113 | —07 | 0738
» Ih—1n10r | 52 | 40043 410 | L 014| 401 | — 023 —01 | 0746
» 1h30'—1b40° | » | ~0056| —13 | — 353 | — 30 | — 556 —35 | 0748
w o 2nonl0’ | 53 | 40,063 | 14 | + 056 | 404 | 4 202| +12 | 0738
n Zh30'—2hd0f | 52 | ~0020| —04 | — 1,65 — L4 | — 074| —04 | 0737
»o 3n3010° | » | ~0060| —14 | —524| — 44 | — 331 —20 | 072
b OB30—3h40 | » | —0029 | —06 | —002| o0 —337] —21 | 0760
w410 | 53 | —0044| —1,0 | —211] — 18 | — 394] —24 | 0748
b 4B30'—4b40 | 52 | —0072| —16 | — 287 | — 24 | — 260 | —16 | 0738
" s 0,167 —3,7 | —1435 | —122|—~1461 | — 9,0
%mﬁﬁﬁgﬁ , II. 2280keg &
& % m | ss 4,856 165,23 297,58 0,726
g 1—25 | 38 | 40029 05 | —023] —o1 | — 156 —o06 | 0730
R AT v | 40079 416 | ~ 191 — 11 | +455| +19 | 0720
o IeANI0 | BT 40035 | 407 | 4057 | 4 03 | 4333 414 | 0718
» 1n3a—1n40" | 38 | ~0039 | —08 | — 048 — 02 | — 221 —09 | 0731
o a0 | » | 4001 | 402 | — 043 —02 | —245| —10 | 0732
nooMB0—20d0’ | » | —~0028 | —04 | — 28| — 17 | — 210 —09 | 0720
o B3Rl | 0036 | —07 | — 023 — 12| —217| —09 | 0724
v BHS0—3040" | v | 0045 | —08 | ~ 308 | — 18 | — 446 —19 | 0726
v 0| m 0101 —20 | — 38 - 23| — 43| —18 | 072
v ANBO—dnd0 | s | 0063 | —12 | ~ 528 | — 81 | — 567 | —24 | o121
W s —0,150 | —29 | -17,75 | —114|-17,04 | —7.1

RS ke 000 7R F =t e+ 26 RE=H5Wr = (ETH), EE=-R5 =
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Ly A=yl RY (5o A= S0P A RD

R =R AERAE = L= LW 87
HHE 230 MEI vy =3k A v %, VO EARR=I S L EETF v
BTE WM <5 v/ 2 =27 #TH kg 0,06gp Fkg.
10 55 [ 2 ¥ HG B
153 (0°C 760 mm Hg)
REE T A A N A LRt
(B8 Fm i (e | RS [ WmE | ke | HRE
(L) % (cem) (%) (eem) (%)
I &E,ﬁ; 2535ke 5

I 43 5,082 173,14 230,85 0,750
ESHE  15—25 43 | 40056 | 4+ 1,1 | 231,25 | 107 | 1081 403 | 0752
v 30'—40’ 42 | 40007 | 4+ 1,9 | 4443 | 425 | 4187 | 408 | 0763
wo 1h—110 | o+ | 40062 | 41,2 | 4043 | +02 | — 147 | —06 | 0760
v ID30'—1b40" | v | —0034 | — 06 | —388 | —22 | — 746 —32 | 0757
o 9h_9m10'|| » | —0016| — 03 | —244 —14 | —377| —16 | 0751
b 2h30°—2040" | w | 40047 | 409 | —011 0 ~ 22| —09 | 0756
»o 3h8n10’ | » | 0060 | 4 1,1 | 40,06 0 +604| 126 | 0731
» 3h30'—3040' | » | —0030| — 05 | L1082 | 404 | 4202| 408 | 0747
w  4n_4n10 | 41 | —0035| — 06 | —043 | —02 | —315| —~1,3 | 0758
» 4h30’—4b40’ | 42 | —0060 | — 11 | —300 | —17 | — 322| —1,3 | 0747

o =t 40,147 | 4+ 31| —-287| —1,7 |—-1053| —44

%ﬂg & &Eﬁ I 1,940ks. 5 |

& & B 38 5,119 136,65 188,22 0,726
EEE  15—15 39 | 40051 409 | +223 | +16 | — 42| —24 | 0756
y o 26'—Al 38 | 40080 | 415 | 4335 | 424 | 4870 | 419 | 0729
wo 1b_IB10 | » | —0047| —09 | -111 | -08 | — 522 | —27 | (740
» 1830'—1040 | 39 | 40,064 | 412 | +226 | 416 | + 673 | 435 | 0712
v oho 9RO || . | —0044| —08 | ~167 | —12 | — 631 | —33 | 0703
» 2n30/—2hd0’ | 38 | 40071 | 41,3 | 429 | 421 | 4841 | 444 | 0742
w  8h3810°| » | —0024| -04 | —185 | —13 | — 282 | —14 | 0727
o 3h30'—3h40’ | - | —0066 | —12 | —423 | -30 | — 633 | —33 | 0728
b 4h—4n10’ | » | —0084| —16 | —4656 | -84 | — 541 | —28 | 0792
w 4B30/—4b40° | » | —0048 | —09 | —851 | —25 | — 382 | —20 | 0722

0 = —0047 | —09 | —623| —-45 |-1559 | —81

A,

Bt kgOlg 7B~z 26 FR =37 Br = GFSHK), EHHETREY, THRHN =
NP B X, PR B LA SRR ¢ HRRITHR T v R 4 E0 0 B
PR, PR R CRRELR S 2 PICEAE 2 W 7 4S5 1 ARk =32, Bk Y
A7 HEIE o LI MR LI 2 BT Al ) B EESR 2 R 7 S 5 TR A =3k

VogmRarE v A =222l 2 N2 BB MBEA LD T 2, WIRER



88

FE

%

25 B A R — A RER S0 = N ERE =G A. 3 JRRREE v A HHER KR CBERR
BB < ATy, W WSRO KERER Y V.

EE8FR MM Ty 2=2T @R ks 0,1l TS,
- 0o/ 7~ & #
143 (0°C 760 mm Hg)
R W g T B R R AT R B RN AL R |
(249) BT | W R E TR | HRE | WA | B RE
(1) (%) (cem) (%) (cem) (%)
%g}’%%m&]{ﬁ I. 2015kg 3
w8 36 6,303 149,02 197,34 0,755
e 15°—25 38 | 0,077 | — 12 | — 268 — 17| — 219] — 1,1 | 0750
EGHE 30 —40° 37 | <0240 | — 38 | — 2447| — 164 | — 3042] —154 | 0,746
wo 1bIn100 || e | —0293 | — 46 | — 3041 — 204 | — 3527 —17,8 | 0,731
» 1630'—1h40’ | 36 | —0251| — 39 | — 2699| — 181 | — 27,96 —141 | 0720
wo 2h9n10° | 35 | —0263| — 41 | — 2394] — 160 | — 2507| —127 | 0,726
n o on30'—2hd0 | 36 | ~0214| — 33 | — 1874| — 125 | — 1675 — 84 | 0721
mo Bh_3n10Y | s | —0147 | — 23 | — 1512 — 10,1 | — 12,00] — 60 | 0722
»  3h30'—3040’ | 37 | —0176 — 97 | — 1481 — 99| — 1563 — 7.9 | 0,738
no 4hdh10 | » | —0162| — 25 | — 1274 — 85 | — 1094| —~ 55 | 0731
v 4h30°—4b40" | » | —0088| — 13 | — 788 — 52| — 847 — 17 | 0728
e = -1,911| —29,7 | —177,78 —118,8 | —~179.70) —90,6
%%%E&Eﬁ II. 2000kg &
g W 44 ‘ 4,216 140,53 169,68 0,828
g 15 —25 47 | —0041] — 09 | - 280 — 19| — 293 — 17| o082
no 30—d40 46 | —0179 | — 42 | — 2294 — 163 | — 2668 — 157 | 0822
»o 1h—1R10C | w | 0303 | — 71 | — 97,21 — 193 | — 2992| — 17,2 | 0806
» In30'—1h40° | 45 | —0,202 | — 69 | — 27,24| — 193 | — 2344| — 138 | 0774
w2210 | e | 0220 | — B2 | — 2452 — 174 | — 2441| — 143 | 0798
b 2h30—2h40° | 44 | —0203 | — 48 | — 2047| — 145 | — 2074| — 122 | 0806
» 3h-3010° | 45 | —0,123 | — 29 | — 1622 — 115 | — 1370| — 80| 079
v Sh30'—3040’ | 46 | —0,146 | — 34 | — 14,63 — 104 | — 1220 ~ 71| .0,799
»o 4h—qh10" | 44 —0131| — 31 [ — 1284 — 91| — 100 — 59| 0800
»  AR30'—AB40’ | » | —0064 | — 15 | — 804 — 64| — 1370| —~ 80| 0848
1 =t —1,702 | ~400 | -17691 -126,1 [~177,12| —~103,9

B ke 015 2 ETF =4 e r 20) Fh=7 97 » (EIR), ESHETREA 8L
ey, WREHAT WD 7 M x A, VRS, BEE AT BHERR cTR RIS E M
vEEBE= B4 v, 1B AR TR, M LB T LIRS0 A= s 5 BARA =
Y, RRE=RRALE, V) RIBE 20 2 A LR AL =07 BB AR



Ly s A=y By (72 a=y] PR L RT 89
R =RAF ANk = (e=2T + /HBRHAL -

A FRA, REE 42T PR WK RFEIBER ) K3y = FHH=KFv.

BWOE. WM 27y =] @EH kg 0,15 g i TES

05/ /7 7= & #
1 5515 (0°C 760 mun Hg) ‘
AT B g TN me G v AT BRI M AR IR
(799) S W B0 | R AR | W R W | W R | MR R | N R
] i (L) (%) (cem) (%) (cem) (%)

Bt i L 210k 3

most W 48 4,523 f 160,98 211,36 0,761

EaHE  15—25 47 | —0080] — 17 | = 670 — 41|~ 11,95] — 56| 0773
w3040 50 | —0358 | — 7,9 | — 28,07| —~ 17,4 — 8040 — 143 | 0,734
w o Th1R10° | 49 | —0436 | — 96 | — 3980| — 247 | — 4496 — 21,2 | 0727
n 1h30'—1hd0’ | 48 | —0343 | — 75 | — 3695 — 229 | — 3888| — 183 | 0719
s oononl0r | » | —0399| — 88 | — 37,98 — 235 | — 3667| — 173 | 0,704
» 9h30'—2hd0’ | 49 | —0362 | — 80 | — 3487 — 21,6 | — 38,93 — 184 | 0,731
» 3a_30107 | 48 | —0323 | — 7,1 | — 3254| — 202 | — 3467| — 164 | 0726
w 3h30'—3h40’ | » | —0358 | — 7,9 | — 31,55 — 195 | — 34,60 — 163 | 0732
»  4h_4nl0r | 49 | —0337 | — 7,4 | — 2831 — 17,5 | — 30,85 — 145 | 0,734
»  4h30’—4h4Q” 48 - 0,254 — 5,6 —_ 2321} — 144} — 2666 — 125 0,740
0 = —-3250 | —71,5—299,98 ~1858 | —328,47 —154.8
%ﬁéﬁ;ﬁﬁﬁﬁi L 1855ks 5 / B

& g ) 48 ] 4,118 136,54 182,54 | 0,748

et 15°—25 || 48 | —0,140 | — 33 | — 584 — 40| — 957 — 52 075
wo 307400 wo| —0392 | — 78 | — 3354| — 245 | — 3892 — 21,8 0717
wo o 1n—1R10’ | 49 | -0382 | — 92 | — 3830| — 280 | — 4029| — 220 | 0690
v 1n30'—1ba0’ | 50 | —0447 | —108 | — 8929 — 287 | — 4256 — 233 | 0,694
»  gh_ongy || 48 | —0403 | — 97 | — 8874 — 283 | — 3839| — 21,0| 0678
o 2M30'—2040° | » | —0,264 | — 64 | — 3325 — 243 | — 34820 — 190 | 0,699
»  3h_3010° | 47 | —0300 — 7,2 | — 3982| — 218 | — 30,17| ~ 165 | 0,700
w 3n30°—3n40’ | 49 | —0281] — 68 | — 3765 — 202 | — 2271 — 124 | 0,681
” 4h_4n10 || 48 | —0238 | — 57 | — 2334| — 170 | — 2026 — 11,0 | 0,691
» AN30—4n40" | » | —0187 | — 45 | — 1994| — 146 | — 1470, — 80| 0,694
0 o —2,964 | —71,4|—309,71 —211,4 | ~292,39| —159,6

4 B B3 v = Vv

mEr e =" BEE ke 00lg FETF=EHF e r 26 FR=2F1 7 Br= (F10
%), 4R =R & PR, PPIRAREL, THEE, RER v 2" SRR ¢ BMEINEE ]
vEHRB IR S A,



90 FEN %=
W1I0FR. AR Lt =0 ETH ke 0,01 g fRESL
o - [ 10 5301 7 (# 27 % #
14308 ] o (0°C 760 mm Hg)
crat e (g™ e me w mme v AT R m O W R PIRER
VAR ) oy gk B | R | MR [ R e | B ek B I 2
(L) (%) {ecem) (%) (cem) (2)
K R ‘ I. 2330ke &
by i S U = 9
o4 W | 40 4,328 153,39 204,24 0,750
waHE 1525 40 | -0041| —09 | —1,12| — 07 | — 040 | ~ 071 | 0,747
w8040 wol ~0065] =15 | — 234 — 15| — 7T11| — 34 | 0766
” 1h—1h10’ »” -~ 0,019 —-04 - 2,72 - 1,7 ~10,93 — 5,3 0,779
v 1h80'—1h4q | 49 40,072 41,6 ~+ 320 + 20 -+ 06,99 | -+ 04 0,762
3 9h_2h1()Y ” ~0,043 —-0,9 — 478 — 31 —-10,35 — 5,0 0,766
»  9h30'—2h40’ | 40 | —0067 | —15 | — 554 | — 36 | —1394| — 68 | 0776
" 3h_3b10 | 42 | —0026| —06 | — 202 — 13 | — 29| — 14 | 0751
»  3h30’—3h4(Q’ 40 ~0,031 - 0,7 ~ 3,21 - 2,0 —10,21 — 49 0,773
» 4h 4R » ~0,085 -1,9 ~ 578 — 37 — 546 | — 26 0,742
»  4h80'—4h4Q’ » ~ 0,039 -09 ~ 429 ~ 27 — 420 — 20 0,745
o 2 ~0344 | —7,7 | ~2855| —183 | 64,55 | —31,1
= = ” I 2450kg &
FIRMT R e P OURE 8
I O 36 5,779 155,25 202,15 0,767
ke 1525 36 | ~0066  —11 | 407 | 426 | 4 419 | 420 | o772
n o B36—40 37 | ~0029| —05 | —241 | —15 | — 050 | —02 | 0754
" 1b—1030" | » | 0049 | —08 | —3,99 | —25 | 4 288 | +14 | 0737
»  1h30—1h46’ » ~ 0,064 -1,1 -}-4,64 -+2,7 4+ 5,50 +2,7 0,769
» 2h—2n1¢Y || 36 ~0,720 —0,4 - 3,05 -1,9 -+ 1,23 0,6 0,748
n 2h30'—2b40’ | » | —0,045 | —07 | -312 | -20 | 4+ 1,43 | 407 | 0747
" 35-3010" | » | 40024 404 | —029 | -01 | -4 3,60 | 117 | 0753
v 3b30'—3840" | 4 | —0013| —02 | —245 | —13 | 4 224 | 410 | 0748
” Ah__4h1(QY » -0,023 —-0,3 —1,80 -1,1 -~ 0,78 -0,3 0,762
v 4R30—4hd0T ) | 40,0151 402 | 41,10 | 407 | ~ 1,77 -08 | 0,780
w 2t -0277 | -45 | —730| -44 41802 188

¥ kg 0,05z 2{EG €+ 261 ) RE =5 11 3), TEBTEROTIR L, VPR (R B R L
FapA Fo®, WRE, REE AT PHEEY © =R RIE R S 1 REAT 30 Mg 3 v
En=pbr o5y B HBI Ko =lboRess



Ly s A=yl Ry (0507 2= S0 (K AT

R = 2oE AfEAEL = (k=2 b AR 91
Bk MR v=7 WEH ke 0,05 g [ Frkg,
NS —
1418 (0°C 760 mm Hg)
HATRE g W R | Rm AT R R %W R R (TREY
(P MM B Wz | Wl E | WlE | TR | o wkE
(L) (%) (cem) (%) (cem) (%)
%ﬁmﬁ%ﬁ&tﬁ I 2250ks &
® B/ wm | 46 ‘ 5,584 } 162,90 205,16 0,794
WaHE 15 —25 45 | 40034 | 406 | 1031 £+ 01| £311 ]| +15 | 0735
» 30—40 wo| —0048| —08 | —3738| — 22 | — 164 | — 07 | 0782
w 101010’ | 46 | —0045| —08 | — 363 — 22 | — 558 | — 27 | 0798
n 1030'—1040’ | 45 | —0067 | —11 | — 615 — 37 | — 142 | — 06 | 0,769
w2090 | » | —0059| —10 | — 5900 | — 36 | — 617 | — 30 | 0788
w 2b30'—2040’ | w | —0037| —06 | — 413 | — 25| — 759 | — 36 | 0803
w o 3n_3n10’ | 46 | —0073 | —13 | — 767 | — 47 | — 989 | — 47 | 0,794
» 3h30'—2h40’ | 45 | —0039 | —~06 | — 4411 — 27 | — 703 | = 34 | 0799
v ab4p10’ | 44 | —0075| —13 | — 70| —~42 | — 713 | — 34 | 0786
w 4b30°—4B40’, | » | —0064 | —11 | — 756| — 46 | — 853 | — 41 | 0,790
4 st —0471| -80 |—-4997| —303 | 51,67 | —247
%’&zﬁ'ﬂ%;ﬁ&ﬂ@ II. 2245kg &
& & B 45 4,750 107,33 137,79 0,778
EBET 15°—25 43 | 40055 | +11 [ 4+ 115] 10| 4114 | 08 | 070
b 30—A 45 | 0050 | —1,0 | — 183 | — 17 | — 421 | — 3,0 | 0789
W 1b—IB10 | » | —0070 1 —14 | — 272 — 25 | 4073 | 4 05 | 0755
» 1030'—1h40° | 47 | —0019| —04 | — 231 — 21 | — 48 | — 35 | 0789
W ohoonl0r | 46 | 40,067 | 14 | 4+ 173 | 16 | — 209 | — 15 | 0803
» Oh30’—9h40’ | 44 | —0032 | —06 | — 337 — 31 | — 566 | — 41 | 0786
p Sh_BRIY| » | —0106] —22 | — 816, — 76 | — 789 | — 57| 0763
» 3h30/'—3840’ | 43 | —0050 | —10 | — 7,56 | — 7,0 | —1072 | — 7,7 | 0785
w  4h—4n1er | 44 | —0120| —925 | —7.99| — T4 | — 955 | — 69 | 0774
»  4h30'—4b40’ | 43 | —0098 | —20 | — 683 | — 63 | —11,06 | — 80 | 0793
@ st —0423| —86 |—37,80| —351 | —54,16 | — 40,1

¥ keOlg 2 R F =4t e 280, FE, BH& - (512 ), EHRITRY A EHE T
% %, WPRFRHAAR 4 R 7R A WIRE, RER v A" gihE R cBRINERE v e F
B =g A TP 1 GRS 2RI 7405, fh s | B EEAEES 1R 50 2 7 A 7
JBARK =%y, B v A" SRS 1GIAERHZ 2 S, o 15 1S
WA= E WAy, My 7 HANER 246 b = % 1EHM7 &)W
DR F o BRI VEABRERERA L E (P A =2T A= BEA I S
FIIFIA, N7y A=y Y EHRA=REL Y. PIRE, RKEE AT PENER



92 FE N B =

CERHISE R AT 4 BERT — 4 BEM 30 & 7K B A W =EY s V. W > T RER L
A7 PR E ) WA EERERE KIVKRTF Y.

12k MR Lv=0 #EH k01 g g THS

105 1 + 727 & H
1478 (0°C 760 mm Hg)
rat e # | B R P v AT RG] B % W R R |PTRENR
(758)| Sk | % | R E | R | 0 R | B
(L | (%) | (eem) | (%) | (cem) | (%)
S RETAY Jl@r I.  2450kg & |
w9 Hi 30 5,480 175,22 241,35 0,725
gt 15—25° 32 | —0043| — 07 | — 508 ~ 38| — 077 — 03 | 0707
v 30'—40’ 31 | —0,239 | — 43 | — 2098| ~ 11,9 | — 2233 — 92 | 0,704
m  1a_1n10* | 30 | —0,293 | — 53 | — 2473 — 141 | — 2969 —123 | 0,710
» 1n30'—1h40’ | » | —0333 | — 60 | — 2444 — 13,9 | — 2522| —104 | 0,697
wo o 2h9h10 | » | —0356| — 64 | — 2557 — 145 | — 2295 — 95 | 0,685
»  9h30'—2hd0’ | 29 | —0194| — 35 | — 2189| — 124 | — 25,83 —107 | 0711
w  3h3010’ | 30 | —0274| — 50 | — 2297| ~ 131 | — 27,09 —11,5 | 0713
w Sh30'—3h40’ | » | —0235| — 42 | — 1972 — 112 | — 1593| — 66 | 0,689
wo 4b—4n10’ | 81 | —0139| — 25 | — 1204 —~ 68| — 1489| — 61 | 0720
o 4B30'—4n4ey | 30 | —0120 | — 21 | — 1001| —~ 57| — 1503 — 62 | 0729
1 = —2,226 | —40,0 | ~187,43) —106,4 | —200,63 —828
Q%%ﬁ&@@ II.  2250kg &
T 45 5,195 153,91 180,99 0,850
gt 1525 45 | —0139 | — 26 | — 351 — 22| — 270 — 14| 0843
wo30—4 46 | —0300| — 57 | — 1316] ~ 85| — 1298| — 7,1 | 0837
w o 1b_1h10" || » | —0324| — 62 | — 27,35| — 17,7 | — 2733 —151 | 0,823
» o 1h30/—1n40" | » | —0381| — 7,3 | — 3042| — 107 | — 2694 —148 | 0801
» 2h—2n10’ | 45 | —0317| — 61 | — 2341| — 152 | — 2059| —113 | 0813
no 2030'—2n40’ | » | —0260 | — 50 | — 2223| — 144 | — 17,80| — 98 | 0806
wo o 363010° | 44 | —0236 | — 45 | - 21,98| — 142 | — 18,16] —10,0 | 0810
» 3n30°—3h40’ | v | —0,265| — 51 | — 1807| — 11,7 | — 17,24| — 95 | 0803
» 4h—4h10" § 45 —0183 1 — 35  ~ 1504 — 97| — 1362 — 75 0,829
3h30"—4h40’ " ~0,096 - 18 | — 896 —~ 58|~ 10,73] — 5,9 0,851
40 = ~2,501 | —47,8|-184,13| ~119,1 | —168,09] —~924

B kgOlog 2RT=HFLr 28 KR=31 7By = F13K), TR 54k 7
A Y WRGEBAES 7 =D 7R ) THRE B M AT SRR cHENER
NEW =T A TRE WA 2 BITEG 6 LI 2 R B =5 Y, REE AT BRI
B 1PIAERER SRR 2887, b 1HI R LM 7T, B BBk =2 A T



L/ A=yl RY | RF v A=y S0 v AT

Rt = MR A AEMIEE = b = 21 b/ ki 93

v 7 ARTRE, KER AT JHEER CRERER M rvemBar e Y ) BEESE
n=2y7 Y FP—E e MBI Ry, 4R 30 4 7 80 T MEWF A b 7 RA. K
B v 2T SHR RABABR CIRAOE BERGR ) BRARDER cHdEa v B

N

B3R, WE  v=>7 BEHke0,15g & T4t

el 7 ov=a" & #H
14530 (0°C 760 mm Hg)
AT g B T m R [gm v AT RE| B R R R TR
Chs) T [ W | B R AR AR
(1) (%) (cem) (%) (cem) (%)
) %ﬁﬁi&tﬂ% I  225kg 3 ‘
8 @ | M 5,585 134,71 170,20 ! 0,791
wahg 15—25 | 44 | —0059| — 1,0 | — 346 — 25|~ 510] — 29| 0704
»  30'—40' | 46 | —0207 | — 53 | — 2379| — 17,6 | — 2618] — 153 | 0781
»  1h—1n10' | 45 | —0491| — 88 | — 2876| — 21,3 | — 29.96| — 17,6 | 0755
» 130'—1040° | » | —0443 | — 7,9 | — 3658| — 27,1 | — 3682| — 21,6 | 0743
wo o B0 | » | —0448| — 7.9 | — 37,23 — 276 | — 3212| — 188 | 0,713
» 2b30/—2n40’ | 44 | —0,369 | — 66 | — 32,35| — 241 | — 3229 — 189 | 0742
» o 3h_3n10" | » | —0440 | — 78 | — 37,37| — 21,7 | — 3067| — 180| 0701
» 3h30'—3b40’ | 45 | —0447 | — 80 | — 3615| — 267 | — 3302 — 194 | 0718
wo 4hgn10’ | » | —0424| — 75 | — 3474| — 257 | — 2534| — 148 | 0,690
»  4n30'—4h40’ | » | —0439| — 78 | — 3575| — 265 | — 3330| — 195 | 0750
@ =t —3,855 | —68,6 | —306,18 —226,8 | ~284,80| —166,8
X ke il’w“%& IL  2116kg &
oA T S 7 34 3,816 156,84 200,54 0,782
et 15—25 | s4 | —o0026| — 06 | — 668 — 42| — 615 — 30| 0772
w 30'—40 v | —0348| — 91 | — 2868 — 182 | — 2862| — 142 | 0745
w o 1h_1n10° | 35 | —0505 | —132 | — 4321| — 275 | — 4504| — 224 | 0,730
» 103010407 | » | —0393 | —102 | — 39,50| — 25,1 — 3448| — 17,1| 0,706
» o 2n1n10° | 36 | —0403 | —105 | — 41,28| — 263 | — 3385| — 168 | 0,693
» 9b30’—2n40’ | 85 | —0348 | — 91 | — 3805| — 242 | — 36,13| — 180 | o722
»  3b_3n10¢ | 34 | —0391| —102 | — 87,36| — 238 | — 39,18 — 195 | 0,740
v ¢h30.—3040° | 35 | —0466 | —122 | — 4146 — 264 | — 3965 — 197 | 0717
v 4bgn10’ | 34 | —0384| —100 | — 4015 — 256 | — 3342| — 166 | 0,608
» 4b30'—4h40’ | » | —0433 | —11,3 | — 41,70| — 265 | — 37,36 — 186 | 0,705
n =t —3,697 | —96,4 | —358,07 —227,8 | ~333,88| —165,9

% &

Ly A=Y R N5y A=y 2T AR CAED, MED, B AR,



94 %o % =

B, AR 3 VTR =B A AW, AR, HE B ARG ¢ =FE = RE
AR =7 (e=>" IR, iz Y FEE=RF» (=" KT
By, NF V) A= FaRE, v A= BEeRE Y MRY Y.

A =30 PR FARE b o BIR=8T  edE ) &ME 7Bl =, Boeck u. Bau-
er’) AR =5, Chittenden u. Cummins®) NFR M7 @rE Le=2"7 =239 (FA"
(RH 7 = FlAm3 b2 B, V4l Bus®) PG = BMRE =97 B~

NMBEEFE 2 Y R Hirsch™) »~ by y—~0 Gy B v 20 R

\{l

ce=2" 7 AT REFET ey ara b2 LY.

B = Gabbe) ~EB=RAF (e =" ) EERBREEIE BUR b PR EREK
R BEAEHY MRS 2AR=RFPE), (e=>" » T RATREZ7ET L
saviE, HARAHYFZ7 bR a b ES, KED ~FE=37 BH =Y LF
tAMRRNER 7 EH=ET >4 r Y.

& Virchow™) NEEAR C WBBE =R41 7 » Le=>" » 72" RE7Tht
yanmE)FY PR, Rithus™) "AFERF=N7 AREF=» (e=2" =39 BEERE

BEANAEE =BT, KR A R NME» = ERA v i E, = vesf> ¥
BBy b3 v, Speck ) B € Zunte-Irisawa ) MM v HEABE =5, Liepelt’s) ik
BA=R7 #27 R#) ) LRIBAr2r%, % e=>" ) 8feH=3r=
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